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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or tomn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the

. m available series.
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- Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions must
be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.

ORL : MR2ITTY FFE 558 Q0 & T &R, 0BT,




R 0 0

QP -535 Lgt
2

&
— SRTOR BT V.. / V. /0.2.9./0.92. (FAD) g
SRR dnew’ TOeE , R/ D& eF 2022 "
D (2waax - daetsts) (2018-19 Rz Ho3TwHoR) &
AECC : %073 e obs £

NOF Tooh 1 3 gosdnel : rfa?g eoEned: 70

23 Dr R Reusnv

1. =g mmtoyrieod BEewde 85 TF HRFODG D0QATTNG 5k BOOTR LT cRRTe P VLTI
V0N Dezy *’Becn’:a""ci: FoedT ol Te Broex ForERI0TIE). BT L0o8THNY LI D0HT TOTPETIOT
36T 3 gzsv"_’)r\aﬁa'.ixc’o ﬁd&‘n@’ﬁ &,

2 BF PAFoL RS e A, B, C, D =g Ea:tﬁgL (OMR) $0ZT TEFaDEG fﬁdﬁéﬁ LENRT AT
=eg @d@m 22003xTeBd.

3. g0 B§Fo (bo-0.250°.) o JnaTERAS B cﬁ@ ToeT, xFeD, Sreowsts 7 mosy B WP [T W

ZRCT TONR 2030, BwoedRER. w2 ﬁ:jan‘eﬁo 23 SR oeor (O.M.R.) :gj-;ﬁ e Soovota)
T3/ TO 0T B30 SRS LB DPOFC0T I TR,

4. *’23’ PTs0 70 *’5?@%@ &Jvmoaci, NP 303&9"33 &fe}ﬁ&mm QY "’sﬁ@r{r ZOTeIeR. *’uodfoci
.qz?r? ey uma’dﬁeé‘da ueaéwﬁdﬁjd "”35'1 #Bomd 2,003 Jﬂob‘ab wg do:'iq air@ﬁmmﬁo sxo
:beéad Jbéo‘afab 8. 600, 3TF. :oéU "’asoda@ Fem® SnEededs

9. QTR YOZOE V7t BB be. 0. 5T, O30 TET0d Tviors e I 5T VS TDCI0K LRSF THCW0LF
TROT RTH maﬁm 2,000 & 200 I 200,08 B3 ek 2 WEE IRBTY [ 2, FIM ee
:’mad@ ) Jege :s’a’n’eﬁab PE IRBT_ oIRyIe do&’n’%’o ‘“cﬁmfo@,&w

6. w,ifv‘* a‘-’z:i W= ey, RRCDOTZES. ﬁ""caf @zfﬁw ROTIe® LU0, dw sert. REod 3 aﬁ’feﬁo
ﬁabw"bﬁda

7. ToegoH TOTYOTR), BRI ©08> okl 1o ggesse (OMR) w0z m330ne) QAT TR

TRBR)TI -\;@Nfﬁ”ﬁb TRBROD R0 10TFT 20w 200 (OMR) 9vgo wagodom ), By I,

Sricts st 2% Ay srEEgal 80808, 8R8R0% H060,1musc H94 5% (OMR) sugd *f‘é,#odasi,
QBT ToBT Jesy) :U’GGE BFRTREI0T BT BREIBIT).

Note : English version of the instructions is printed on the front page of this booklet.




R AR A 3 QP - 535

1.

Purple frog is endemic to

a) Eastern Himalayas b) Thar Desert

c) Western Ghats d) Banni Grassland

$e09 3 ([T PYIT) B3 WM, ﬁwmrxd

a) TPJE LTROOL b) oo TR

C) TR FLNL d) WR ToLYRTLO

Sustainable Development Goals framed in 2015 should be achieved by
a) 2025 b) 2030 c) 2045 d) 2040

pab d €220 50, noong> 2015 83 TRF BRYN modRde

a) 2025 b) 2030 L @ 2045 d) 2040

Deforestation means

a) Cutting down of trees b) Planting trees in forests

c¢) Planting trees in grasslands d) All of the above

Slettant] DOTITEI> ?
a) NS STA BRSO T b) TTNTS, ST SERT?

0) RIS BOMWHIBFD  d) FoedZ0Fe

Kokkare Bellur is famous for

a) Painted storks b) Bats

c¢) Ostrich d) Swan
BRTT WERTC umc-\,a’"*%’ BTN ?

a) o 1@#(&@35@3 b) RN
C) ff‘vm_; ﬁ% d) ofers]

Biological invasion means
a) lllegal killing of species
b) Conservation of species
c) Accidental or deliberate introduction of a species into a new environment
d) All of the above
zé:aé BB DOTTESS 7

) zsaun’@‘ BT T

b) ey Nudﬁm

C) 2,002 9{3@55@0 dﬁ%ﬁmﬁ SIamp m@es’a@@dra’mﬁ ReTIT TR TR CTINGO
d) BoedT 20
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6. Biodiversity is

a) Variety of life on earth b) Living organisms in a lake
c) Microbial life on earth d) Variety of life in a forest

23033 :Ej:bqﬁé’ QCTO

a) 23RN03 BoedT aS&)qﬁ =03 eansy b)) REReScEdTRs (AT =0

c) R0 FoedS NM z:?‘i)ﬁ%t d) E‘C%‘ﬁ@d)d WG TN

7. Which of the following is a biotic component ?

a) Sunlight b) Soil c) Water d) Fungi
BINTHINTE, BT B & 220T50NG ?

a) RRO3F S L8O ) R0, C) Qed d) 89eomynse

8. Which of the following statement is false ?
a) Respiration process releases energy
b) Energy is recycled in an ecosystem
c) Energy flow is unidirectional
d) Nutrients are recycled in an ecosystem
FINT BVENTEY, 03RO BF) 7
a) SATHEIT FFC303D zf%c&ab WRINE BHEBT
b) SORT d*aof) 5&01;3., dvdow;f% a’mcﬁmrbe’d
c) Jgc maag’; DERNDT ﬁzi:éd
d) d@m@oeiﬁ@i TORCT &, a""’od:@ TITLE SREERMIST

9. Country with highest population in the world is

a) India b) China c) Japan d) Germany
23,89 s B, (Tl o BRoDTRI caw BRRT ?
a) mdu b) eI C) =T d) RSFR
10. Conservation of species outside their natural habitat is called as
a) Species conservation b) In-situ conservation
c) Ex-situ conservation d) None of the above
st AT SIS FRNFE SR 20T BRTwN Nodéz"v?oi/ﬂa DS B3030BY0 ?
a) Jkeane zﬁodﬁﬁ b) ® -a—%ﬁ NOd-ﬁ;%“
c) ﬂfad—m@m RoTTE d) BT CSR[TL O,
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11. Removal of carbon dioxide from the earth’s atmosphere and its long term
storage in terrestrial biosphere is known as
a) Carbon sequestration b) Carbon fixing
¢) Photosynthesis d) Carbon dating

BRI THTRTOT BOMOT S ST IRTRP T DB FRNOCH
RBSRRIBY ©TT DEFFFTHOD FONBERCI, DT TBN:|T ?

a) BUWFD 283 B b) wwrs 2¥0re
& ~
c) DEReIeRES d) sewFra® Bdeeson®
12. Factors such as temperature, rainfall, light, soil etc. are examples for
a) Biotic environment . b) Abiotic environment
¢) In-situ environment d) Atmosphere
B3 ©OBNRRT TTSRE, ¥, IR, =Y :’n,oaazsbjw TR, NTTOTOT ?
a) o3 TORT b) ez Zo75
c) :brw I TORT d) modwd:cﬁen

13. Plants, Algae and Photosynthetic bacteria are examples of
a) Decomposers b) Carnivores c) Producers d) Herbivores

RRN, T3 202 FperdReKoPLis® W IeO0RNR TR BOBNTINGS.
a) PEEOS b) djacnwar{eﬁa C) YVBTIFOO d) TR0
14. World Ozone Day is celebrated on
a) August 15 b) December 15 c¢) March 15 d) September 16
S SR SO WOV DRSS DT S2BORTNR TS
a) ejﬁ“*15 b) &#cws® 15 c) SmFr 15 d) ABewo® 16
15. Minamata disease is caused due to
a) Lead b) Cadmium c) lron d) Mercury
QOTIIER T2 CIRTYTOOTS LVCERNIBTS ?
a) ¥ex b) 2,03 c) #z%sa d) Sowos
16. Which of the following is not an impact of mining ?
a) Sea level rise b) Soil erosion
c) Loss of biodiversity d) Deforestation
NSNS IR Redrwddes: Tesae) ?
a) RR0T k3 003 b) sﬁas:?;ﬁ#a’é%
c) ﬁea’agacidﬁ d) 03
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17. Biodiversity has
a) Aesthetic value
c) Both a) and b)
ﬁeﬁ@&%@ CRRTI, BROOT 2
a) FOOTWORF T =I0Y,
c) a) &R b) KTER

18. Heritage animal of India is

a) Tiger b) Elephant
LTS TOTOTOT 7,3 IR 2.
a) @9 b) 3

19. Paris Agreement focuses on
a) Climate change
c) Wetland management

0% eNBootTS el
a) THTIVTED WHLVRT
C) SeBPRNO ITF BT

A 0 O

b) Ecological value
d) None of the above

b) ToRT BT,
d) 0T TRPTL VY,

c) Cow d) Leopard

C) RS d) w3

b) Waste management
d) Biodiversity management

b) =%, ENOv T ot
d) BRFIG, IBFHE

20. Which one is the oldest National Park in India ?

a) Kanha National Park
c) Gir National Park

b) Kaziranga National Park
d) Corbett National Park

zpadefd@meﬂegoé BICI> Doy 03 mm@’dﬁ@ 3R ?

a) B o €05 -ammsziﬁd
C) NT* Tog L0 ST, TS

21. Koala bear is found in

a) America b) Australia
26 308 B B3RS AT
a) R0 b) &7 O3

22. Large dams can cause
a) Cyclone
c) Earthquake

BRE ergINvotmn SOOLIITII TOFOTC

a) RSN
C) PRBOD

b) For3Ton Tagy e TR TRD
d) Toe3FEs Dagyea YOTR,TDS

c) Austria d) Africa
C) @’ oI d) ©{3

b) Volcanic eruption
d) Heavy rainfall

b) @ dmm RS
d) ypoesH
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23. Soil erosion can be controlled by
a) Mulching b) Afforestation
L c) Mixed cropping d) All the above
T BITORR, REFRIBHRT IGRT
a) T Bon® b) «Tsdes0e0
c) Qg i3 d) 93 2P
24. Which of the following methods can reduce environmental degradation ?
a) Afforestation b) Reduce plastic
c) Wastewater treatment - d) All of the above
PN 03 RFORN TORT aazfddg{ BRI TRTBUIROT ?
a) 036308 b) AT TR TRBRIT .
C) BOT ROROT d) F0edS 20
25. Soil pollution is caused due to
a) Organic manure b) Afforestation
c) Cattle grazing d) Agricultural pesticides
SIS BROFE) VEOT YUoLHNIZE
a) AR Rews b) 0ede500
C) TS SoeCWRYT d) e See3TTFD
26. Energy and manure can be obtained from
a) Biogas plant b) Hydroelectric power plant
c) Nuclear power plant d) Wind mills
B3 AOTOT T WS m%ddaig( TRECIRITIT
CYRINESN m@dcﬁ b) o JTyE m@dd
- C) TOSRED DT m@a’d d) e Nosdne
27. Good farming practices are
» a) Using chemical pesticides b) Using organic manure
¢) Using chemical fertilizers d) Monocropping
BRNSE_ 00 %& :’cj}é
a) DORRCINT EWTHIFNI0 WIRFYW  b) oTess RRWSSRD WIRT T
C) TomROIRT m%d:ﬁaia WERRIHTO d) 9T dedods o3¢
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30.

31.

32.
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Mining means

a) Extraction of groundwater

b) Conservation of minerals and ores
c) Extraction of minerals and ores

d) Extraction of timber

[ato/ante  ANlonle]
a) LoBRFO BRTBNRCIVZTO
b) R B3 LATINTR) ReEH BRI
C) DTN méa wadcm*ab aradé’ﬁa:m@ci,
d) o006, BATIRENFR:

Population explosion in developing countries leads to

a) Food scarcity b) Unemployment

c) Depletion of natural resources d) All of the above
wIR0s3, RReLINOT T, Q8w DD%\ N 008 3000

a) dmdd 8003 b) adﬁp en

C) FRNFT BOTSRONE ReP d) fmos NS0
Environmental protection is the responsibility of

a) Government b) Public ¢) Industries d) All of the above
TORC HOTFFECIN VWO &WamoLRO

a) A%F 0 b) —cm RIBT C) groddnsl d) 0T 2P
Which of the following is used as a source in nuclear power plants ?
a) Coal b) Wood

c) Uranium d) None of the above

FINTYNYY, CORYTS BORRER DTT MWFOMTY, BOFIIT WSHTO:
w%"”@“m@d ?

a) ﬁ@d@u b) =0
c) o3 oBeR0Te d) S0edT CIRITR @)
Fertilizer derived from animal or plant product is called
a) Chemical fertilizer b) Organic manure
c) Synthetic manure d) Organic compounds
T 69 epese ﬁ;ﬁ m,ézfaocf Satecton d:dﬁfaz%ddab DFOTO FTCSRMZS 2
) ToRR O3B ﬁ:aud b) moseds Rews

c) mogtad rtewd d) e Nccd.oén’%
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33. Where is the Ganges River Dolphin found ?
a) Pakistan b) India c) China d) Sri Lanka
nere SO0 HIF &9 ToERITES 7
a) TEWT “ b) T2 c) 3e® d) eoom

34.

35.

36.

37.

38.

Birth rate of a population is called
a) Mortality b) Vital index c) Natality d) None of these

w0 03O RIS TP 20T
a) 00D [T b) Fuer wodE, c) xITT=wee  d) ORTYTE VY

Amazon is an example of

a) Grasslands - b) Tropical rainforest

c) Deserts d) Oceans

SBNPT BRI, YT ?

a) TOLLTTOONE b) SUHTOCIT TN
C) IoBFREME d) menonse

Food web is

a) A part of a food chain b) Two food chains

c) All trophic levels d) Interlocking food chains
$3390 2300 033

a) $T0 ITJLOI woTS LN b) 20 st FoTened

C) 2oy, HRERT s d) 0TBRYRROTS FeOT BHT ROTENTS
Wind mills are threat to

a) Birds b) Bats

c) Both a) and b) d) None of the above

oY NOSNY m@dﬁu TOVTTeToNTS ?

a) ﬁ%ﬁ% b) ww=ON:

c) a) e b) 0@ d) Soed3 cInFTe @0

that meets the needs of the present without comprising the ability of
future generations to meet their own needs.
a) Scientific Development b) Sustainable Development
¢) Economic Development d) Social Development

PORT 71 SSe ST ONINIRS TPYRD MTFF R, BROVTOTE
200 eng én’%fa'ig{ @@z;mgd

a) %m@g aez;aé% b) mﬁéd eazpa:’g)&é
c) =OFs esa;ai% d) 33 eﬂ&f}a’g%
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39. Lion tailed macaque is found in

a) Gir National Park b) Corbett National Park
c) Silent Valley National Park d) Valley of Flowers National Park
2enes 83 WNEY BorowsBT
a) NO° Ty 030 as*ocsa RV b) T Doy 03> YVTR, Q]
c) Nﬁowmémweo&mmwﬁ d) =0 &5 *mrmwec&mmdﬁu
40. Air (Prevention and Control of Pollution) Act was enacted in the year
a) 1980 b) 1981 c) 1979 d) 1982
ToC30 (SR OF, SEME3RT [T VCI0S,R) THOUTICIT, B3 TRFTY,
S ORRTREONT
a) 1980 b) 1981 c) 1979 d) 1982
41. Fossil fuels largely consist of
a) Oxygen b) Nitrogen c) Argon d) Carbon
TSC3009E 2oTINTE). éwaﬁcbd 203
a) SRWIT b) e C) BMmFT d) oo
42. is concerned with the people displaced by the construction of Sardar
Sarovar Dam.
a) Silent Valley Movement b) Chipko Movement
c) Appiko Movement d) Narmada Bachao Andolan
ReRFO° ACREDT® BT, QRRF 00T ﬁ%cédﬁmozé =ION BOLWCHRT.
a) & @o@m@zﬁ oY b) zsq@ra 3T
c) @Wéfae zﬁfjoaf@ d) IR LI BOBRETT®

43. IUCN stands for
a) Indian United Congress for Nature
b) Indian Union for Conservation of Nature
c) International United Congress for Nature
d) International Union for the Conservation of Nature
IUCN 20538
a) RORCINT® CINFHE TWORR® T J¢ B3C°
b) 20®035=* ofoﬁwcm:s‘ "—oc*‘ BIDeF T S Sedo®
C) BOLT*TIT® 0305, Osfec %?;Oﬁru TR0° Jeudc®
) QOE&UE-B 5&’@‘ Mwm -'?Us o 5(’\5‘3&- I° el Seedo”
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44. An equivalent of Chipko Movement in South India is
a) Vanamahotsava b) Appiko Movement
| c) Save Environment Movement d) Janchethana Movement
EETER s Eoo lev ) TR TEED 0BT woT WT®
. a) FIDBRESS b) e W3S
c) T|O=T ﬁod%-\bﬁ WIS d) RTe3eBT 23T
| 45. Grass — Deer — Tiger is an example of
'1 a) Food chain b) Food net ~ ¢) Food pyramid d) None
| B > 808 — O, ) m@d@ NI ?
; a) $To0 0 b) 8¢ ©m0 C) &To0 1TE® d) CINFTR 9.

46. Water pollution caused by
a) Reforestation b) Afforestation c) Oil spills d) Both a) and b)

woBRIFE TONL
a) ST ee0ed  b) €T eEoe C) 3o Rretns d) a) TR b) HTER

r 47. Human-wildlife conflict caused by L
E a) Afforestation b) Reforestation c¢) Deforestation d) Soil erosion
: SRTE- B ﬁcﬁ)ﬁrﬁ, Soe, TR |
| a) ©0edeeced b) x0T e8ss ) wBRmE  d) Woeds ASee |
| 48. Who started Appiko Movement in Karnataka ? |
| a) Salumarada Thimmakka b) Poornachandra Tejaswi
- ¢) Panduranga Hegde d) H. S. Doreswamy

BRFLIBEY, BRBRE WATOORTY IR TR TOPITTS ?

a) VT E[F b) Zpraredor Sewr,

C) TOCTOTON BNGE d) F. % BRT,IS

49. Noise means

a) Normal sound b) Constant sound

¢) Unwanted sound d) None of the above

B2 20TV ?

a) MRRT, PR b) 28020 G

C) @3N TR d) oI cIRPTR @Y
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50. Mineral resources are
a) Non-renewable resources
c) Renewable resources

QRNTE_ 8% ﬁod&%@ﬁ@:
a) BRBORANT RoTSROTD
C) BREBORWBOTE ROBSROMD

51. pH of acid rain is

a) >7 b) 14
G T 3 R ?
a) >7 b) 14

52. Unit of noise is
a) Joule b) Decibel
Efzgad FeIB CIRRT ?
a) wWor b) Bawe*

53. Temperature is measured in
a) Degree Fahrenheit
c) Both a) and b)

12- VA0 0

b) Infinite resources
d) None of the above

b) wzo8 AcTSqon
d) B3 CIRTT® B

c) >5.6 d) <5.6
c) >5.6 d) <5.6
c) Dobson d) Newton
C) W d) SRua*

b) Degree Celsius
d) None of the above

BOTRITE T sad@far:ﬁaod ePosoonnogd

a) BN I
C) a) ™nrb) a0re

b) @1 s
d) 2003 BRIJTR ©we)

54. Solid Waste Management Rules came in the year

a) 2016 b) 2017

c) 2006 d) 2007

CIRE SeHF TQ T 39,23, DIFHR AN 338 1oy ?

a) 2016 b) 2017

55. Methane is released from
a) Paddy cultivation
c) Both a) and b)

c) 2006 d) 2007

b) Livestock
d) None of the above

DR AR TOOT BRRBCRRES ?

a) ¥IT T
C) a) Tneb) 2TCER

b) waomeTe
d) SIS cInFTe e,
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56. Benefits of recycling of waste
a) Sustainable development
b) Can reduce pollution
c) Reduces pressure on raw materials
d) All of the above
RERT ROBOWFFLI0TIONIES T OIRERTA
a) zi:?séd eﬂz;ai)%
b) méﬁsda’a BRZO BRBUTITO
c) #mwd*’m_:ﬁ# =oees ugzjdzd;i BER0 BREZT
d) 0D 2P '

57. Taj Mahal is getting damaged due to

a) Cyclones b) Sulphur dioxide
c) Water pollution d) All of the above
T BB’ VWO TIRMRTINIST
a) WoBINTIBNL b) BOT* Beg =
c) wOIROF, d) B0ed 2P
58. State with highest tribal population in India
a) Jharkhand b) Odisha c) Karnataka d) Madhya Pradesh
PRTITY 28 TR, WNBFESD. HER023,03050, BRODTRS Toz,
a) EFoT® b) w&m C) BFLT d) ST
59. Disaster Management Act came in the year
a) 2004 b) 2005 c) 2006 d) 2007
QT2 VF BT T3 WOTRT TR
' a) 2004 b) 2005 c) 2006 d) 2007
60. Population explosion will result in
] a) Increase in forest cover b) Increase in rainfall
c) Food scarcity d) None of the above
| 08T, RRFLOCT DTN ?
5 a) ©0c, [T oY b) 3 =¥
C) STV BRTS d) BoedT cCIRPTR .
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Terrace cultivation is practiced in

a) Slope area b) Ocean c) Forest d) Plain
BoeLS BWNMO FOTOEY 0N BHBTO_SREEYT ?

a) VWO BT b) me&0g, C) W@ d) woder
In a terrestrial ecosystem, grass is a

a) Producers b) Decomposers

c) Consumers d) None of the above
3RNCI TORT a'z’ssa’%cme?_ , WY 20T

a) LVBITIFTO " b) PwITS

c) &vEedeen d) 00O CIPYTR B
Which of the following is not a natural disaster ?

a) Volcanic eruption b) Nuclear explosion
c) Earthquake d) Cyclone
FINTRINYE CIRF T2 FRNFT DBATRS ?

a) 23,9000 RRfes b) ZTCRmea0 ZRges

c) Pr3os | d) Bor=RTT :
Organisms which feed directly on producers are known as

a) Carnivores b) Omnivores

c) Herbivores d) None of the above
SeTmN HUSTBOD BRI BN

a) BROTTIONT b) FFeIEEcd

C) RRREOON d) B0edT IRV TR Y.
Part of the earth in which life exists is known as

a) Hydrosphere b) Atmosphere

¢) Lithosphere d) Biosphere

23EINTD QB LRI zpan‘ddi DOTI BFCITNIBT,

a) wonee b) Sec3omocrEe

c) doorineed d) Lemnee
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66. World Water Day is celebrated on

a) 22" March b) 22nd July c) 22" February d) 22" April
DB, WO T[> 53 03I SIORINBT
a) 22 IR b) 22 uce% €) 22 WO d) 22 D
67. Which of the following is a non-renewable source of energy ?
a) Coal b) Geothermal energy
c) Solar energy d) Both a) and b)
FINSRNTE. CIRPYT: FDEFORTNS TE1 LUTPTOES ?
a) s9Te0 'b) PR50s0T 33
C) RT3 d) a) @eneb) 2TER
68. The most abundant gas in the atmosphere is
a) Nitrogen b) Helium c) Oxygen d) Hydrogen
THTIVOLIRE). TeTFeooN BRTO30%S Y
a) ATEIT b) &edacoo C) EERRTT d) zoxTs
69. shows the number of organisms in each trophic level without any
consideration for their size.
a) Pyramid of Number b) Pyramid of Ecology
c) Pyramid of Biomass d) Pyramid of Energy
TEo3RoT: TP TEBTYT 23N rdo.;‘d;mﬂa SN mg'&é CINTTIe TONES
QBT3¢ BReOROZT,
a) ﬁoaa'% QTRT® b) TORT 2RI TR
¢) BeTdeI AT d) 3o &0
70. Sundarbans is famous for
a) Leopard b) Lion Tailed Macaque
c) Royal Bengal Tiger d) Elephant
ROOTITUD®, BINS om'@dg g%%mﬁd i
a) 2303 b) 2ones
C) ToC3* Worne 0O d) &3
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